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G. Problems H

(D calculate the AG° for the following redox reaction:

Cu(s) + 2n 2¥(ag) =---> Cu2*(ag) + 2n(s) E® = -1.10 V
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@ Calculate the equilibrium constant,Kp, for the following reaction at 25.0°C
if AG® is - 32.9 kJ:

N2(g) + 3 Hz(g) ====

=== 2 NH3(9)
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3 calculate A G°, for the following reaction at 25.0°C if Kp is 1.1 x 1

0-16¢
NH4Cl(s) === NH3(g) + HC1(qg)
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@ Given the following AG® values: I~ (ag) = - 51.7 kJ/mol il = o
X =
Cl™ (aq) = -131.2 kJ/mol e ¢
Ccalclate E° for the following reaction: Cl1, + 2 I” (ag) == 2 Cl(aqg) + I,
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5 Calculate K

for the following reaction:

250, + 0, e 2 solar xsoCl
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